@ @ ﬁ @ @ Aftrekken (aftrekken 5)
Naam: Datum: Score:
o 57 9-5= 10-5=

7-5= 6—5 s o

9-5= 10-5= g 5= o s

7-5= 65— o s o

T Vo §-5= 10-5=

9—5 = s s o

10-5 = 85 = 95 = 10-5=

65 = 75— . s Ve

o 7T 6-5= 10-5=
§-5= 10-5= g 5= o s

65 = g_ 5= s o

VT 7-5= 10-5 = 65—

7-5= 95—

www.snowmath.com



https://www.snowmath.com

@ @ @ @ @ Aftrekken (aftrekken 5)
Naam: Datum: Score:
6-5=1 8§—5=3 9-5=4 10-5=5
7-5=2 6-5=1 7-5=2 6-5=1
9-5=4 10-5=5 8—-5=3 9-5=4
7—-5=2 6-5=1 9-5=4 6-5=1
10-5=5 9-5=4 8—-5=3 10-5=5
9-5=4 7—-5=2 6-5=1 7-5=2
10-5=5 8§—5=3 9-5=4 10-5=5
6-5=1 7—=5=2 8§—5=3 9-5=4
7-5=2 9-5=4 6-5=1 10-5=5
8§—-5=3 10-5=5 8§—-5=3 9-5=4
6-5=1 8§—5=3 6-5=1 8—-5=3
9-5=4 7—=5=2 10-5=5 6—-5=1
7-5=2 9-5=4
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